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Section : General Knowledge
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Question ID : 9767551686
Status : Not Answered
Chosen Option : --

> -
Q.2 24amaa 2019aﬂaﬁﬁiaﬁ%aﬂaweﬁaﬁwaﬂ##ﬁqaﬁaﬂamwﬁ)ﬂm
@t , g, €. €.(UAE) & Hal<a AR YRR ‘S ISR 3A1h

Question ID : 9767551687
Status : Answered
Chosen Option : 4

Q.3 Name the writer of the book ‘Article 370 : A Constitutional History of Jammu and Kashmir'.
Ans  of 1 AG.Noorani

x 2. Vikram Seth
75 3.KRA. Narasiah
x 4. Arundhati Roy

Question ID : 9767551688
Status : Answered
Chosen Option : 1
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Q.4 31 EER, 2019 i FERT & UUH IRSAUTA & &0 J fora= ray ugor i?
Ans X" 1 fawor ad

/X 2. 5 ure A

o 3 oR& TR

/X 4. et wee

Question ID : 9767551689
Status : Answered
Chosen Option : 3

Q.5 100 T20 SiaRTEra fohdhe @e=t arell WRe &Y ugelt fhdher a7 arelt WReTT Afger fordhe e
T AT FAT5T:

Ans X" 1 fersrreredft
75 2. g sragare
75 3. smReR &R
o 4 smmha ek

Question ID : 9767551690
Status : Answered
Chosen Option : 4

Q.6 fA=fafae d @ Fi9- a1 leR AR g« A Toreh &1 d 7T ST 8?
Ans X" 1 e Hehifa
#< 2. et

W 3.

75 4w Tah

Question ID : 9767551683
Status : Answered
Chosen Option : 2

Q.7 fReeht & srdwent A V7 wifAawrsit g dafdes (TB) & Sfarupeil l 7& o & fog gar 7 fafy
@t oft g1 fayy TR R At Qeft A & it @ge & T 1

Ans Xng;,ﬁ
v 2.5
X 3 ded
X 4. =eh

Question ID : 9767551684
Status : Answered
Chosen Option : 1
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Q.8 g g d, A d O for Teu & srdwehl A ercafdes 3ifEAR yehlaTge (perovskite) &l Teh
sreafien fRAR weartfAek IR (photo catalyst) & aRafea foran & it arr=a: urh & dice
frurg refRes newen! ot fafed weA & gam g2

Ans X1 T, HE
25 2T, Reeht
X 31T, &R
o 4 IISERTH

Question ID : 9767551685
Status : Answered
Chosen Option : 4

Section : Data Analysis and Interpretation

Q.1 FafafEa urd aré = awgsii & dar o aRaR & m1fe @ &t g2rfar g1

= T9Em (15%)

B AR (15%)
w ®UE (5%)

T HISE (45%)
m AAIAA (10%)
n $eht (10%)

afy @< fi 7€ Fer afA FUF 48000 2, A AT SR FUST W FHYH wU & @ hi 7€ AfA
ot

Ans X" 1. 3td 12000
o 2. z7d 9600
/5 3.3 4800
75 4. 392 8600

Question ID : 9767551696
Status : Answered
Chosen Option : 2
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Q.2 2 fam o uré ark YR & g Heoft Saare A fafv= afssral 1 ufdera R zsufar @

T 28.9

EATEr, 11.3

3] & ITeA & forg st &1 o1 wéien i sptor (Fft &) s/ @2
Ans  of 110404
/X 2.104.4
/X 3.1045
/X 4.104.09

Question ID : 9767551698
Status : Answered
Chosen Option: 1

Q.3 foreht e argr &1 geid, 2019 & &R 6 fafera R=T & sifderaw amuwm= (FRft §89= #)
fafafad IR o d Ry g &

50 - -

LHHH

i Bs 2o s 30 Ra 4w = 541 Ba 6@ B=

40

30 -

20 +—

10

0+

= g =1 &1 erfderan eitaa araaT= aar 82
Ans " 1.357°C

of 2.3537°C

/X 3.3237°C

/< 4.3637°C

Question ID : 9767551691
Status : Answered
Chosen Option : 2
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Q.4 A survey was made among 4540 people to find their favorite musical instrument. The
following pie-chart shows the findings of this survey.

How many people liked piano?

Ans  of 1 1135
/X 2.908
75 3.250
75 4.454

Question ID : 9767551695
Status : Answered
Chosen Option : 1
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genl Y fashY (S goiR /) Ramar 81
120 7
105 =
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80 B2 80
20 5 70
60
H 2018
L #2019
20
0
e e b M | IHH TR T
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g1 ot ot TR A0 Y et farshY @1, @41 aul Hit wfea R f g skt @ siqura
&?

Ans x1_3;4
270
X 39:7
X 4.4:3

Question ID : 9767551693
Status : Answered
Chosen Option : 3

Q.6 fFAFffRd IR UTh SIERT-SIERT FTUTT & SIHR Uh QTR dhl STarel (Al /) fzarar @1

ST H 1951 2001 aFufasagfg ___ gE @l
Ans X" 1100 ufdera

/X 2. 44 vfaera
o 3. 144 vRm
/X 4.31 ufawr

Question ID : 9767551694
Status : Answered
Chosen Option : 3
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Q.7 = fear mar urr wg wrwreit # uenrfAa, fordt et & guTER usl & yaR @ ufafafaa war @:

f2&} SraaR T UER ART8Y @ foha=im a1fder 82
Ans X 1400

o 2.500
/X 3.600
/< 4.300

Question ID : 9767551692
Status : Answered
Chosen Option : 2

Q.8 e Hifta arerd= i UehRR ST+ & forg Qe wderor forar war o1 Sit fof amieR e & gareii &
e e Tg ot udig emar un) fAfafRe urd-aré 59 aderr & fAemuf @@t g2far g

¥ 25 st Y st weie &, ot et e Tt e wdaror R ma am?
Ans  of 1 250

75 2.1000

/X 3.343

/X 4.100

Question ID : 9767551697
Status : Answered
Chosen Option : 1

Section : Numerical Ability

Q.1 i 6 ©¢ d&eT TR Yah G a9 T &, ATIH sied THT ITh! 71fa 2 km/h &7 gt siret @ ok
TE gl 7 A | I 9 °5e A &1 Aled gy Ih! uf frat o2

Ans X 1.2km/h

/X 2.3km/h
/5 3.5km/h
o 4 4km/h

Question ID : 9767551706
Status : Answered
Chosen Option : 4

Q.2

Ans x 1.

Question ID : 9767551699
Status : Answered
Chosen Option : 4
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Q.3
Ans X" 1.8
24
K 3.2
54
Question ID : 9767551703
Status : Answered
Chosen Option: 3
Q.4
Ans x 1.1
X 2.310
W 30
X 4.69

Question ID : 9767551704
Status : Answered
Chosen Option : 1

Q.5 fRmET IR areT (TRR) Fud 27/kg &Y &R & 160 kg ATae i @ a1 @ 3R 3@ vud 32/kg
X gt 240 kg & fAar a1 81 a8 fAfAa ae« ot ufe fratrs fras d 99 s S8 @1 9mas ==
TR 20 ufaerd &1 gi?

Ans X1 30 46
W 2.7 36
/X 3.3d 56
75 4373 26

Question ID : 9767551701

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.6 foReft gt & A= wioni o1 siguTa 3 : 51 7 81 I8 Ay e uaR @1 82
Ans X" 1 aiftremanior B

/X 2. Ry g Rrereat @ g oft et

o 3. P e

/X 4. wHaRT Bt

Question ID : 9767551702
Status : Answered
Chosen Option : 3
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Q.7 A, B gt & i1 AT 3107 R el g SR sHfg ag fef rf &Y B & garreret 30 R &
& 9T A QRT A | HEH g1 S Gop 91 e o Rt ol foham R | g e &at?

Ans X 1.
X2
X 3
v

Question ID : 9767551705
Status : Not Answered
Chosen Option : --

Q.8 fRra-t e==IfY TeRgfy sarer TaifSia et ur i arer & $Ud 4,499.04 g} seft, af sorer fr =
uget af 3 ufaerd, TR av 4 ufdere ok fiwR adf 5 ufaere wrar &2

Ans X" 1. 39 6,000
75 2.39@ 3,000
75 3.33 5,000
o 4 zad 4,000

Question ID : 9767551700
Status : Answered
Chosen Option : 4

Section : Current Affairs

Q.1 0T (Google) ZRT Si-a faFaT 7T Fa1 FeEs-dve A Thifdn affw PemfafRa d @ w arg?
Ans XLHR@EF(ParseC)

x 2. @ R Afa (PlayStation Now)
of 3. @f (Stadia)
x 4. St wid 1a (GeForce Now)

Question ID : 9767551707
Status : Answered
Chosen Option : 2

Q.2 39 YR TUelie 1 T Ta13 R g1e g1 # gevaAe SR i guafeay hade
(811£.9.Q.uw.) & dew fie utsw (Association of Athletics Federation (IAAF) Veteran Pin
Prize) 2019 & gwrfAa forar mar?

Ans X1 fRmram
of 2 & s
/X 3. et s
75 4. sisyatdt sifst

Question ID : 9767551714
Status : Answered
Chosen Option : 2
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Q.3 e RS Sfearst gariAifAe fl’ (Reset: Regaining India's Economic Legacy) & @@
w82

Ans X 1. Q.. SHTESTT
o 2. g @i
/X 3. amad @
X 4 e g

Question ID : 9767551712
Status : Answered
Chosen Option: 1

Q.4 FSTIR F-a2M (Budapest Convention) # g1 arelt @fY), gar st ©fY &1 39 €Y et
aTg?

Ans X" 1 g aERd
#< 2. Hreeh gereif & i
W 3 TR sy

F R CED

Question ID : 9767551708
Status : Answered
Chosen Option : 2

Q.5 I UAA R GahaTst ST A9 T3¢ [Se ‘ae aifri Afg=faa’ 2019 # T4 uge sftar?
Ans X 1 ydior gER

75 2 At

X 3. R Rig

o 4 aftg area

Question ID : 9767551713
Status : Answered
Chosen Option : 4

Q.6 Which one among the following is the Oxford Word of the Year 2019?
Ans x 1. Toxic

x 2. Youthquake
J 3. Climate Emergency

x 4. Post-Truth

Question ID : 9767551711
Status : Answered
Chosen Option : 2
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Q.7 Government e-commerce portal GeM has launched a national outreach programme in Dec
2019 called:

Ans x 1. GeM Enterprises
x 2. GeM Marketplace
J 3. GeM Samvaad

x 4. GeM Vaarta

Question ID : 9767551709
Status : Not Answered
Chosen Option : --

Q.8 sieRfEha siuer Sifew =Fieeor Rew, ufaed fre faf o6t w=mar s 82
Ans X" 117 sregeR

X 2. 24 IR

o 313 s

7< 4.5 SRR

Question ID : 9767551710
Status : Not Answered
Chosen Option : --

Section : English

Q.1 Select the most appropriate meaning of the following idiom:

Below the belt
Ans X" 1 Jeans

#< 2. Fair
J 3. Unfair
x 4. Trouser

Question ID : 9767551720
Status : Answered
Chosen Option : 3

Q.2 Choose the most appropriate option to fill in the blank.

Alive ass is than a dead lion.

Ans  of 1 stronger

x 2. strange
x 3. strongest

x 4. strong

Question ID : 9767551718
Status : Answered
Chosen Option : 1
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Q.3 The following sentence has been divided into four parts. One of them contains an error.
Select the part that contains the error from the given options.

Pawan went to / school as soon as / he finished / her meal.
Ans X 1. he finished

J 2. her meal

x 3. school as soon as

x 4. Pawan went to

Question ID : 9767551715
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate ANTONYM of the given word.

DWINDLE
Ans J 1. Increase

X 2. Reduce
X 3. Abate

75 4. Diminish

Question ID : 9767551717
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate synonym of the given word.

VENOM
Ans X" 1 valor

J 2. Poison
x 3. Pious
#< 4. Vanity

Question ID : 9767551722
Status : Answered
Chosen Option : 2

Q.6 Choose the correctly spelt word from the given options.
Ans x 1. Personnal

X 2. Perssnal

J 3. Personnel

X 4. Parsonnel

Question ID : 9767551719
Status : Answered
Chosen Option : 3
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Q.7 Select the option that can be used as a one-word substitute for the given group of words.

A person who loves or collects books
Ans  of 1 Bibliophile

75 2. Cynic
x 3. Fatalist

x 4. Demagogue

Question ID : 9767551721
Status : Answered
Chosen Option: 1

Q.8 Select the option that expresses the given sentence in reported speech.

“I have not seen you in years”, | said to him.

Ans x 1. 1'told him that | have not saw him for years.
x 2. 1told him that he had not seen me for years.
J 3. I told him that | had not seen him for years.

x 4.1 told him that I have not seen him for years.

Question ID : 9767551716
Status : Answered
Chosen Option: 3

Section : Questions on Subject Discipline

Q.1
Ans x 1. External treatment

is carried out by adding chemicals to the boiler to prevent the formation of scale.

x 2. Internal treatment
J 3. Blow down

x 4. Measurement

Question ID : 9767551767
Status : Answered
Chosen Option: 3

Q.2 Which of the following is NOT a factor to be considered for furnace functioning?

Ans x 1. Oil-fired furnaces mostly use furnace oil, especially for reheating and heat treatment
of materials.

( 2. Light Diesel Oil (LDO) is used in furnaces where phosphorus is undesirable.
x 3. Induction and arc furnaces use electricity to melt steel and cast iron.

x 4. Most furnaces use liquid fuel, gaseous fuel or electricity as energy input.

Question ID : 9767551773
Status : Answered
Chosen Option : 2
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Q.3 The minimum illuminance for all non-working interiors as per IS 3646 is
Ans X" 110 Lux

o 2.20 Lux

75 3.30 Lux
75 4.40 Lux

Question ID : 9767551747
Status : Answered
Chosen Option : 2

Q.4 The pusher type of furnace is popular in the
Ans 5 1. aluminium

J 2. steel
x 3. nickel
x 4. iron

industry.

Question ID : 9767551774
Status : Answered
Chosen Option : 2

Q.5 The aims to promote efficient use of energy at the residential level:
Ans & 1. SAPHALA

75 2. MEEP

75 3. UJWALA

o 2 UJALA

Question ID : 9767551802
Status : Answered
Chosen Option : 2

Q.6 Liquid enthalpy is measured in terms of:
Ans X 1. cal/g

/X 2.kcal/g
/< 3.cal/Kg

o 4 kcal/Kg

Question ID : 9767551769
Status : Answered
Chosen Option : 4
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Q.7
Ans x 1. Receivers

x 2. After coolers

prevent dust from entering the compressor.

J 3. Intake air filters

x 4. Inter-stage coolers

Question ID : 9767551736
Status : Answered
Chosen Option: 3

Q.8 PFBC (pressurised fluidised bed combustion) is a variation of fluid bed technology that is
meant for coal burning applications.

Ans J 1. large scale

x 2. uncommon

x 3. small scale

x 4. narrow

Question ID : 9767551781
Status : Answered
Chosen Option : 4

Q.9 Which among the following is NOT a type of combustion control?

Ans X" 1.0n/Off control
x 2. Modulating control
( 3. Turn on/off control

x 4. High/low/off control

Question ID : 9767551763
Status : Answered
Chosen Option: 2

Q.10
Ans X" 1. Heat load

x 2. Flow
J 3. Range

X 4. Approach

is a direct function of the quantity of water circulated and the heat load.

Question ID : 9767551744
Status : Answered
Chosen Option : 4
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Q.11 The programme ‘AJAY’ initiated by Energy Effciency Services Limited (EESL) has installed:
Ans X" 1 LED lights

J 2. Solar street lights
x 3. Sewerage pumps

X 4. Agricultural pumps

Question ID : 9767551800
Status : Answered
Chosen Option : 4

Q.12 How much voltage is generally generated at power plants in India?
Ans X" 1.132kV

75 2.33kv
/5 3.66kV
o 411k

Question ID : 9767551724
Status : Answered
Chosen Option : 4

Q.13 Indian Boilers Regulation (IBR) was created in exercise of the powers conferred by of
the Indian Boilers Act, 1923.

Ans x 1. Sections 38 and 39

( 2. Sections 28 and 29
x 3. Sections 18 and 19

75 4. Sections 48 and 49

Question ID : 9767551766
Status : Answered
Chosen Option : 2

Q.14 In any heat recovery situation, it is essential to know the amount of and how it can be
used.

Ans X" 1 energy
( 2. heat recoverable
x 3. heat
x 4. steam

Question ID : 9767551790
Status : Answered
Chosen Option : 2
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Q.15 In De-aeration, dissolved gases, such as oxygen and carbon dioxide, are expelled by
the feed water before it enters the boiler.

Ans " 1 post heating

X 2. reheating
X 3. closed-heating

J 4. preheating

Question ID : 9767551768
Status : Answered
Chosen Option : 4

Q.16 The value by which the pressure in the pump suction exceeds the liquid vapour pressure is
expressed as a head of liquid and is referred to as

Ans X" 1 NPPSHR

/< 2.NPSHR

o 3.NPsH

75 4.NPSHA

Question ID : 9767551743
Status : Answered
Chosen Option : 2

Q.17 Fixed losses are those that occur in the motor, irrespective of the of load.

Ans x 1. efficiency

x 2. maintenance

x 3. resistance

J 4. quantum

Question ID : 9767551730
Status : Answered
Chosen Option : 4

Q.18 Capacitors with automatic power factor controller when installed in a plant:

Ans x 1. increase the load current of the plant
J 2. reduce the reactive power drawn from grid
x 3. reduce the voltage of the plant

x 4. reduce the active power drawn from grid

Question ID : 9767551754
Status : Answered
Chosen Option : 2
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Q.19 Which type of overhead conductor is used in transmission and distribution?
Ans 3" 1. Aluminium

o 2. ACSR

x 3. Copper

75 4.ASCR

Question ID : 9767551731
Status : Answered
Chosen Option : 2

Q.20 Which device converts electrical energy into mechanical energy by the interaction between
the magnetic fields set up in the stator and rotor windings?

Ans X" 1 Circuits

x 2. Compressors

J 3. Motors

X 4. Transistors

Question ID : 9767551732
Status : Answered
Chosen Option: 3

Q.21 Which of the following points need NOT be considered while selecting a refractory?

Ans x 1. Working temperatures
x 2. Electric load of the furnace
J 3. Area of application

x 4. Extent of abrasion and impact

Question ID : 9767551780
Status : Answered
Chosen Option : 2

Q.22 The major energy in steam is in its

Ans J 1. latent heat value

x 2. heat
X 3. pressure

x 4. temperature

Question ID : 9767551789
Status : Answered
Chosen Option : 1
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Q.23 Replacement of inefficient municipal and sewerage pump sets in 500 AMRUT cities is the
scheme initiated under:

Ans  of 1 VEEP
75 2. UJWALA
75 3.UJALA
75 4. SAPHALA

Question ID : 9767551801
Status : Answered
Chosen Option : 1

Q.24 The process of machining the diameter of an impeller to reduce the energy added to the
system fluid is called

Ans x 1. axial trimming

J 2. impeller trimming
x 3. pulley change

x 4. blower trimming

Question ID : 9767551741
Status : Answered
Chosen Option : 2

Q.25 The electricity rules followed in India are actually based on the guidelines given by:

Ans o 1. indian Electricity Rules
x 2. Power Grid Corporation of India
x 3. Institution of Electrical and Electronic Engineers

x 4. Institution of Engineers

Question ID : 9767551723
Status : Answered
Chosen Option : 1

Q.26
Ans x 1. Carbon dioxide

J 2. Oxygen
x 3. Water
X 4. Sulphur

is mechanically removed in a de-aerator.

Question ID : 9767551796
Status : Answered
Chosen Option : 4
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Q.27 If maximum permissible limit of TDS as in a package boiler is 3000 ppm, percentage make
up water is 10 percent and TDS in feed water is 300 ppm, then the percentage blow down is:

Ans  of 1 1 percent

x 2.3 percent

x 3. 2 percent
X 4.100 percent

Question ID : 9767551794
Status : Answered
Chosen Option : 4

Q.28 The ideal method of compressor capacity assessment is through a
Ans X" 1 needle test

x 2. puzzle test

x 3. riddle test

J 4. nozzle test

Question ID : 9767551733
Status : Answered
Chosen Option: 3

Q.29 The optimum efficiency of boilers occurs at of full load.

Ans x 1. 45 - 65 percent
X 2. 50 - 85 percent
J 3. 65 — 85 percent

X 4.25 - 75 percent

Question ID : 9767551793
Status : Answered
Chosen Option : 2

Q.30 is widely used for cooling tower casings and basins to ensure long life and

protection.
Ans X 1 Mica

X 2. Metal fibre

X 3. Jute fibre
J 4. Glass fibre

Question ID : 9767551750
Status : Answered
Chosen Option : 2
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Q.31 Power factor correction capacitors have an internal loss called:
Ans X" 1. Tan B (beta) loss

J 2. Tan 6 (delta) loss
x 3. Tany (gamma) loss
x 4. Tan T (zeta) loss

Question ID : 9767551758
Status : Answered
Chosen Option : 2

Q.32 Which of the following is NOT an application of heat pipes?

Ans x 1. Recovery of waste heat from furnaces
J 2. Reheating of boiler combustion air
x 3. Reheating of fresh air for hot air driers

x 4. Recovery of waste heat from catalytic deodorising equipment

Question ID : 9767551791
Status : Answered
Chosen Option: 2

=
Q.33 The main components of LPG are:

Ans X" 1. Hexane and Propane
x 2. Nitrogen and Propane
x 3. Butane and Sulphur

( 4. Propane and Butane

Question ID : 9767551799
Status : Answered
Chosen Option : 4

Q.34 Which of the following is NOT a property of refractories?
Ans " 1 Porosity

X 2. Cold crushing strength
( 3. Heating point

X 4. Melting point

Question ID : 9767551778
Status : Answered
Chosen Option: 1
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Q.35 Itis a general exercise in industry to burnt-out motors.

Ans X" 1 produce

J 2. rewind

x 3. generate

x 4. redraw

Question ID : 9767551729
Status : Answered
Chosen Option : 4

Q.36 The number of feed points is increased, as it is necessary to distribute the fuel into the bed

Ans J 1. uniformly
x 2.inincreasing order

x 3. unevenly

x 4. in decreasing order

Question ID : 9767551782
Status : Answered
Chosen Option : 1

Q.37
Ans x 1. Aerator

J 2. Economizer

is the last stage of the feed water system in a boiler.

X 3. Deaerator

x 4. Condenser

Question ID : 9767551764
Status : Answered
Chosen Option : 2

Q.38 Ignitors are used for starting
Ans K1 HTL

x 2. Sodium vapour lamps

75 3.CFL
o 4 FL

Question ID : 9767551748
Status : Answered
Chosen Option : 4
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Q.39 The overall thermal efficiency of an extraction condensing turbine cogeneration system is
lower than that of a turbine system.

Ans x 1. condensation pressure
x 2. steam pressure
J 3. back pressure

x 4. low pressure

Question ID : 9767551784
Status : Answered
Chosen Option : 3

Q.40 is used for transferring heat to a process in a boiler.
Ans J 1. Water

X 2. Sulphur
x 3. Oxygen
x 4. Carbon dioxide

Question ID : 9767551797
Status : Answered
Chosen Option: 1

Q.41 Organic insulations are based on
Ans x 1. nitrogen

x 2. hydrogen
J 3. hydrocarbon

x 4. carbon

polymers.

Question ID : 9767551779
Status : Answered
Chosen Option: 3

Q.42 Fuels such as coal, oil and natural gas are often referred to as
Ans X" 1 energy fuels

x 2. alternate fuels
J 3. fossil fuels
x 4. renewable fuels

Question ID : 9767551760
Status : Answered
Chosen Option : 3
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Q.43 is used in furnaces where presence of sulphur is undesirable.

Ans o 1. 1DO
75 2.LSHs

X 3. Petroleum

x 4. Furnace oil

Question ID : 9767551775
Status : Answered
Chosen Option: 1

Q.44 The typical life of a CFL is:
Ans X" 1.4000 hours

75 2.2000 hours
o 3.8000 hours
x 4. 5000 hours

Question ID : 9767551746
Status : Answered
Chosen Option: 3

Q.45
Ans X" 1. Hydro power plants

are a major source of electricity supply in India.

x 2. Nuclear power plants
x 3. Wind power plants

J 4. Thermal power plants

Question ID : 9767551786
Status : Answered
Chosen Option : 4

Q.46 Bimetallic steam traps operate on the same principle as
Ans X" 1. Thermistor

75 2. coil

J 3. Thermostat

x 4. Resistor

Question ID : 9767551792
Status : Answered
Chosen Option : 3

Free Downloaded From - www.exammix.com




Visit - www.exammix.com & Free Download, All Previous Question Papers (Hindi & English)

Q.47 What is the ratio of power factor?
Ans X" 1 KVA /KW

#5 2. kW / kVAr
75 3.kVAr/ kw
o 4 kw/kva

Question ID : 9767551727
Status : Answered
Chosen Option : 2

Q.48 If the speed of the centrifugal pump is doubled, power goes up by .
Ans J 1. eight times

x 2. six times

X 3. two times
x 4. four times

Question ID : 9767551742
Status : Answered
Chosen Option : 1

Q.49 Shortage of air or surplus of fuel or poor distribution of fuel can lead to
Ans X" 1. combustion

x 2. boiler efficiency
J 3. incomplete combustion

x 4. high steam pressure

Question ID : 9767551765
Status : Answered
Chosen Option : 3

Q.50 Two stroke and four stroke are classifications of:
Ans X 1. CF set

75 2.Clset
J 3. DG set
75 4.DM set

Question ID : 9767551751
Status : Answered
Chosen Option : 3
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Q.51 Which of the following is NOT a type of natural gas?
Ans " 1 RLNG

X 2.LNG
75 3.CNG
o 4 PHG

Question ID : 9767551798
Status : Answered
Chosen Option : 4

Q.52 The trap operates by sensing the difference in density between steam and
condensate.

Ans X" 1_thermodynamic

J 2. ball float

x 3. inverted bucket

X 4. thermostatic

Question ID : 9767551771
Status : Answered
Chosen Option : 1

Q.53 Which form of coal has a high percentage of fixed carbon and low percentage of volatile
matter?

Ans  of 1 Anthracite

X 2. Lignite
x 3. Bituminous

X 4. Natural coal

Question ID : 9767551762
Status : Answered
Chosen Option: 1

Q.54 Along with the saving of fossil fuels, cogeneration also allows to the emission of
greenhouse gases.

Ans X" 1 increase

X 2. enhance
x 3. reuse
J 4. reduce

Question ID : 9767551783
Status : Answered
Chosen Option : 4
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Q.55 The quantity of heat required to change a chemical from liquid to gaseous state is called

Ans J 1. latent heat

x 2. energy
x 3. heat

x 4. super heat

Question ID : 9767551770
Status : Answered
Chosen Option: 1

Q.56 generates the required heat exchange area by the splashing action of water over the

fill media.
Ans X" 1 Film fill media

75 2. Media

75 3. Fill media

J 4. Splash fill media

Question ID : 9767551745
Status : Answered
Chosen Option : 4

Q.57 Waste heat recovery methods attempt to
would be wasted.

Ans J 1. extract

X 2.increase
X 3. release
X 4. reduce

some of the energy as work that, otherwise,

Question ID : 9767551787
Status : Answered
Chosen Option : 1

Q.58 The equipment used as a mechanical supporting structure for the ACSR conductor used for
the transmission of electrical energy is known as .

Ans X" 1 breaker
J 2. transmission tower
X 3. transformer
75 4.cT/PT

Question ID : 9767551756
Status : Answered
Chosen Option : 2
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Q.59 The colour rendering property of HPSV is
Ans  of 1 medium

X 2. very low
x 3. very high

X 4. very dull

Question ID : 9767551749
Status : Answered
Chosen Option : 2

Q.60 A parallel air vent fitted outside the trap reduces start-up times in the type of trap.

Ans x 1. thermodynamic

x 2. thermostatic

J 3. inverted-bucket

/< 4. ball-flat

Question ID : 9767551772
Status : Answered
Chosen Option : 1

Q.61
Ans X" 1 Nitrile rubber

is mainly used as cold insulation for piping and cold storage construction.

J 2. Thermocol
x 3. Mineral wool

x 4. Calcium silicate

Question ID : 9767551777
Status : Answered
Chosen Option : 4

Q.62 The specific power consumption for certain TR output does NOT include which of the
following options?

Ans X" 1_Chilled water pump
J 2. Cooling rise fan
x 3. Compressor

x 4. Condenser water pump

Question ID : 9767551737
Status : Answered
Chosen Option : 3

Free Downloaded From - www.exammix.com




Visit - www.exammix.com & Free Download, All Previous Question Papers (Hindi & English)

Q.63 In a recuperator, heat exchange takes place between the flue gases and the
metallic or ceramic walls.

Ans X" 1 gases
o 2 air
x 3. nitrogen
75 4. carbon

through

Question ID : 9767551788
Status : Answered
Chosen Option : 2

Q.64 The youngest form of coal from the geological perspective is
Ans x 1. Bituminous

o 2. Lignite

X 3. Anthracite

x 4. Grade D coal

Question ID : 9767551761
Status : Answered
Chosen Option : 2

Q.65 The forging furnace temperature is maintained at around
Ans & 1.2200 - 2250 °C

#5 2.1000 - 1250 °C
75 3.900 - 1250 °C

o 4.1200-1250°C

Question ID : 9767551776
Status : Answered
Chosen Option : 4

Q.66 For which of the following applications are occupancy sensors best suited?
Ans x 1. Daylight-based controllers

J 2. Movement or noise detector in room space
x 3. Motor controllers

X 4. Night-based controllers

Question ID : 9767551755
Status : Answered
Chosen Option : 2
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Q.67 Intwo-stroke engines, there is a lot of wastage of fuel since exhaust and fuel inlets are

Ans J 1. open

75 2. blocked

x 3. not present

x 4. closed

Question ID : 9767551752
Status : Answered
Chosen Option : 2

Q.68 Nowadays, most of the compressors are operated with the
Ans X" 1_in/out control

X 2. left/right control
X 3. up/down control
J 4. on/off control

Question ID : 9767551734
Status : Answered
Chosen Option : 4

Q.69 is one of the most important technical parameters influencing the selection of the
type of cogeneration system.

Ans  off 1. Heat-to-power ratio
X 2. Fuel-to-heat ratio
X 3. Heat-to-fuel ratio

X 4. Power-to-heat ratio

Question ID : 9767551785
Status : Answered
Chosen Option : 1

Q.70 Whenever two transformers are operating in parallel, both should be technically identical in
all aspects and, more importantly, should have the same impedance level. This minimises
the .

Ans X' 1 resistance

x 2. losses

J 3. circulating current

x 4. frequency

Question ID : 9767551735
Status : Answered
Chosen Option : 3
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Q.71 Which of the following does the symbol in the given image denote?

Ans x 1. Tie point
x 2. Resistor
x 3. Shielded wire

J 4. Potentiometer

Question ID : 9767551725
Status : Answered
Chosen Option : 1

Q.72 The term ‘system resistance’ is used when referring to the
Ans X" 1. fan characteristics

x 2. blowers

x 3. compressors

( 4. static pressure

Question ID : 9767551739
Status : Answered
Chosen Option : 1

Q.73 The maximum TDS ppm of a Lancashire boiler is
Ans 5" 1.7000 ppm

75 2.2000 ppm
75 3.5000 ppm

o 4.10000 ppm

Question ID : 9767551795
Status : Answered
Chosen Option: 3

Q.74 If the transformer is 100 percent efficient and its iron losses is 40 W, the value of copper
losses will be:

Ans " 1.80W
o 220w
X 310w
X 420w

Question ID : 9767551759
Status : Answered
Chosen Option : 2
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Q.75 provide a means of changing the air volume by adding or removing system

resistance.
Ans X" 1 Blowers

X 2. Fans
( 3. Dampers

X 4. Centrifugal pumps

Question ID : 9767551740
Status : Answered
Chosen Option : 3

Q.76 Which of the following does the symbol in the given image denote?

Ans X" 1. Connector
x 2. Ground connection

x 3. Synchro
J 4. Chassis ground

Question ID : 9767551757
Status : Answered
Chosen Option : 4

Q.77 What is the ratio of load factor?
Ans J 1. Average load / maximum demand

X 2. Connected load / maximum demand
x 3. Average load / connected load

x 4. Maximum load / average load

Question ID : 9767551726
Status : Answered
Chosen Option : 2

Q.78
Ans x 1. Air recovery

from exhaust gases gives one of the best opportunities in energy savings.

J 2. Heat recovery
x 3. Water recovery

x 4. Warmth recovery

Question ID : 9767551753
Status : Answered
Chosen Option : 2
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Q.79 Centrifugal fans increase the speed of an air stream with a
Ans  of 1 rotating

x 2. circulating
x 3. moving

x 4. vibrating

impeller.

Question ID : 9767551738
Status : Answered
Chosen Option: 2

Q.80 The synchronous speed of a motor that has 6 poles and operates at 50 Hz frequency is

Ans  of 11000

/X 2.1500
75 3.3000
X 4.750

Question ID : 9767551728
Status : Answered
Chosen Option : 1
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